
 

 

Answer on the question #61941, Chemistry / General chemistry 

Question: 

 

The specific heat of a certain type of cooking oil is 1.75 J/(g*C). How much 

heat energy needed to raise the temperature of 2.02 kg of this oil from 23 

degrees C to 191 degrees C?  

Answer:  

The heat energy can be calculate like integral: 

𝑈 = ∫ 𝐶𝑑𝑇 

𝑇2

𝑇1

= 𝐶𝑜𝑖𝑙 ∙ (𝑇2 − 𝑇1) 

The specific heat of 1 g of a cooking oil is 1.75, and for 2.02 kg is: 

𝐶𝑜𝑖𝑙 = 𝑚 ∙ 𝐶 = 2.02 𝑘𝑔 ∙ 1000 ∙ 1.75 
𝐽

𝑔 ∙ ℃⁄ = 3535 𝐽/℃ = 3.54 𝑘𝐽/℃ 

The heat energy needed: 

𝑈 = 3.54 𝑘𝐽/℃ ∙ (191 − 23)℃ = 593.88 𝑘𝐽 
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